

Portfolio for Elmer H Brunsting Decedents Tr

Financial Advisor Doug Williams, 860-659-8145 36 Welles Street, Glastonbury, CT 06033, 888-659-9931

Statement Period Nov 29 - Dec 31, 2014

Page i of i

ANITA KAY BRUNSTING TTEE U/A DTD 10/10/1996 ELMER H BRUNSTING DECEDENTS TR 203 BLOOMINGDALE CIRCLE VICTORIA TX 77904-3049

Edward Jones Tax Forms

All Forms 1099 will be issued to clients by Feb. 15. Visit us at www.edwardjones.com/taxcenter to learn more about your Edward Jones tax forms and the cost basis tracking and reporting requirements for financial services providers.

Portfolio Summary

Total Portfolio Value

\$307,705.11	
1 Month Ago	\$312,233.54
1 Year Ago	\$298,840.39
3 Years Ago	\$232,657.84
5 Years Ago	\$48,808.78

Choose the Credit Card That's Right for You

'Tis the season for New Year's resolutions, which means balancing your spending habits and long-term financial goals. Edward Jones offers credit card options to help manage your spending. Your financial advisor can help you decide which is right for you. (The creditor and issuer of the Edward Jones MasterCard is Elan Financial Services, pursuant to a license from MasterCard International Inc. MasterCard is a registered trademark of MasterCard International Inc.© 2014 Elan Financial Services. All rights reserved.)

Accounts	Account Holder	Account Number	Value 1 Year Ago	Current Value
Living Trust Advisory Solutions Fund Model	Elmer H Brunsting Decedents Tr	653-13579-1-8	\$298,211.30	\$307,177.31
Individual Retirement Account	Nelva E Brunsting	609-91956-1-9	\$629.09	\$527.80
Total Accounts			\$298,840.39	\$307,705.11

Although account information is provided on this page, it does not guarantee an actual statement was produced. Refer to your account statement for the exact registration and more specific details regarding each account.





Statement Date Nov 29 - Dec 31, 2014

Page 1 of 5

Living Trust

Anita Kay Brunsting TTEE U/A Dtd 10/10/1996 Elmer H Brunsting Decedents Tr

Simplify Your Tax Preparation

Online Account Access can make preparing your taxes easier than ever. You can view cost basis and realized gains and losses, choose e-delivery for faster access to your tax documents, and download or import your account information into tax preparation software or send your tax documents directly to your tax professional. Contact your local Edward Jones office for details.

Account Value		Val
\$307,177.31		Begin
, , -		Asset
		Incom
1 Month Ago	\$311,722.56	Asset
1 Year Ago	\$298,211.30	Fees
3 Years Ago	\$232,412.32	Chan
5 Years Ago	\$0.00	Endir

Value Summary					
	This Period	This Year			
Beginning value	\$311,722.56	\$298,211.30			
Assets added to account	0.00	0.00			
Income	11,268.07	16,486.84			
Assets withdrawn from account	0.00	0.00			
Fees and charges	-328.80	-3,925.86			
Change in value	-15,484.52	-3,594.97			
Ending Value	\$307,177.31				

Asset Details (as of Dec 31,	2014)			Advisory Soluti	ons Fund Model
	Current Yield/Rate	Beginning Balance	Deposits	Withdrawals	Ending Balance
Money Market	0.01%*	\$57.37	\$14.80	-\$57.37	\$14.80

* The average yield on the money market fund for the past seven days.

Mutual Funds	Price	Quantity	Cost Basis	Unrealized Gain/Loss	Value
Baron Small Cap	33.84	190.039	4,837.46	1,593.46	6,430.92
Capital World Bond	19.72	290.411	5,961.20	-234.30	5,726.90
Capital World Growth & Income	46.00	345.116	11,486.22	4,389.12	15,875.34
Columbia Mid Cap Value	17.05	1,019.958	13,610.52	3,779.76	17,390.28
Credit Suisse Comm Ret Strat	6.01	1,164.44	9,822.94	-2,824.66	6,998.28
Deutsche Small Cap Value Instl	26.34	230.045	6,826.60	-767.21	6,059.39
Dodge & Cox Income	13.78	1,328.357	17,672.48	632.28	18,304.76
Dodge & Cox Intl Stock	42.11	438.581	13,079.62	5,389.03	18,468.65
Harbor Capital Appreciation	58.52	244.161	11,063.67	3,224.63	14,288.30
Investment Co of America	37.01	468.177	12,378.30	4,948.93	17,327.23
JP Morgan Core Bond	11.75	1,545.875	17,725.25	438.78	18,164.03
JP Morgan Fed Money Mkt	1.00	873.45			873.45





Statement Date Nov 29 - Dec 31, 2014

Page 2 of 5

Asset Details (continued)

Mutual Funds	Price	Quantity	Cost Basis	Unrealized Gain/Loss	Value
Loomis Sayles INV Grade Bd	11.87	758.154	9,388.20	-388.91	8,999.29
Mainstay High Yield Corp Bd	5.75	2,065.349	12,248.55	-372.79	11,875.76
MFS Massachusetts INV Trust	28.17	364.087	8,278.69	1,977.64	10,256.33
MFS Research International	16.79	659.167	8,434.36	2,633.05	11,067.41
New World	53.14	160.753	7,387.37	1,155.04	8,542.41
Oppenheimer Intl Growth	35.08	401.63	12,831.22	1,257.96	14,089.18
Oppenheimer Rising Dividend	20.55	822.885	14,920.57	1,989.72	16,910.29
Pimco Total Return IV	10.57	844.488	8,843.52	82.72	8,926.24
T. Rowe Price Equity Income	32.80	593.109	12,896.96	6,557.02	19,453.98
T Rowe Price Instl Lrge Cp Gr	27.48	521.488	11,286.58	3,043.91	14,330.49
T. Rowe Price New Income	9.58	2,219.071	21,037.82	220.88	21,258.70
Templeton Global Bond	12.41	472.624	5,971.63	-106.37	5,865.26
Voya Global Real Estate Fund	20.32	476.36	6,563.85	3,115.79	9,679.64
Total Account Value					\$307,177.31

Inve	stment and Other Activity by Date		
Date	Description	Quantity	Amount
12/01	Dividend on JP Morgan Core Bond on 1,537.135 Shares @ 0.023		\$35.35
12/01	Reinvestment into JP Morgan Core Bond @ 11.79	2.998	-35.35
12/01	Dividend on Mainstay High Yield Corp Bd on 2,041.014 Shares @ 0.034		69.60
12/01	Reinvestment into Mainstay High Yield Corp Bd @ 5.87	11.857	-69.60
12/01	Dividend on Pimco Total Return IV on 831.913 Shares at Daily Accrual Rate		9.05
12/01	Reinvestment into Pimco Total Return IV @ 10.79	0.839	-9.05
12/01	Dividend on T. Rowe Price New Income on 2,214.85 Shares at Daily Accrual Rate		40.56
12/01	Reinvestment into T. Rowe Price New Income @ 9.61	4.221	-40.56
12/02	Dividend on Loomis Sayles INV Grade Bd on 743.744 Shares @ 0.039		29.15
12/02	Reinvestment into Loomis Sayles INV Grade Bd @ 12.13	2.403	-29.15
12/03	Long Term Capital Gain on Baron Small Cap on 179.093 Shares @ 2.034		364.38
12/03	Reinvestment into Baron Small Cap @ 33.29	10.946	-364.38
12/04	Buy JP Morgan Fed Money Mkt @ 1.00	57.37	-57.37
12/05	Redeemed JP Morgan Fed Money Mkt @ 1.00	-343.6	343.60
12/05	Long Term Capital Gain on Oppenheimer Rising Dividend on 757.393 Shares @ 1.312		993.90
12/05	Short Term Capital Gain on Oppenheimer Rising Dividend on 757.393 Shares @ 0.422		319.68
12/05	Dividend on Oppenheimer Rising Dividend on 757.393 Shares @ 0.053		40.80
12/05	Reinvestment into Oppenheimer Rising Dividend @ 20.68	1.973	-40.80





Statement Date Nov 29 - Dec 31, 2014

Page 3 of 5

Inve	stment and Other Activity by Date (continued)		
Date	Description	Quantity	Amount
12/05	Reinvestment into Oppenheimer Rising Dividend @ 20.68	15.458	-319.68
12/05	Reinvestment into Oppenheimer Rising Dividend @ 20.68	48.061	-993.90
12/05	Advisory Solutions Program Fee		-343.60
12/11	Long Term Capital Gain on Columbia Mid Cap Value on 938.159 Shares @ 1.317		1,236.46
12/11	Short Term Capital Gain on Columbia Mid Cap Value on 938.159 Shares @ 0.078		73.20
12/11	Dividend on Columbia Mid Cap Value on 938.159 Shares @ 0.066		62.11
12/11	Reinvestment into Columbia Mid Cap Value @ 16.77	3.704	-62.11
12/11	Reinvestment into Columbia Mid Cap Value @ 16.77	4.365	-73.20
12/11	Reinvestment into Columbia Mid Cap Value @ 16.77	73.73	-1,236.46
12/11	Long Term Capital Gain on Pimco Total Return IV on 832.752 Shares @ 0.072		60.13
12/11	Reinvestment into Pimco Total Return IV @ 10.67	5.635	-60.13
12/12	Dividend on MFS Research International on 643.249 Shares @ 0.42		270.76
12/12	Reinvestment into MFS Research International @ 17.01	15.918	-270.76
12/12	Long Term Capital Gain on T. Rowe Price Equity Income on 559.212 Shares @ 1.78		995.40
12/12	Dividend on T. Rowe Price Equity Income on 559.212 Shares @ 0.17		95.07
12/12	Reinvestment into T. Rowe Price Equity Income @ 32.17	2.955	-95.07
12/12	Reinvestment into T. Rowe Price Equity Income @ 32.17	30.942	-995.40
12/15	Dividend on Capital World Growth & Income on 342.955 Shares @ 0.287		98.46
12/15	Reinvestment into Capital World Growth & Income @ 45.56	2.161	-98.46
12/15	Long Term Capital Gain on JP Morgan Core Bond on 1,540.133 Shares @ 0.013		21.08
12/15	Short Term Capital Gain on JP Morgan Core Bond on 1,540.133 Shares @ 0.001		1.74
12/15	Reinvestment into JP Morgan Core Bond @ 11.80	0.147	-1.74
12/15	Reinvestment into JP Morgan Core Bond @ 11.80	1.786	-21.08
12/16	Dividend on Templeton Global Bond on 453.289 Shares @ 0.496		224.88
12/16	Short Term Capital Gain on Templeton Global Bond on 453.289 Shares @ 0.028		12.74
12/16	Reinvestment into Templeton Global Bond @ 12.29	1.037	-12.74
12/16	Reinvestment into Templeton Global Bond @ 12.29	18.298	-224.88
12/17	Fee Offset Less Admin Fee		14.80
12/17	Dividend on Mainstay High Yield Corp Bd on 2,052.871 Shares @ 0.034		70.00
12/17	Reinvestment into Mainstay High Yield Corp Bd @ 5.61	12.478	-70.00
12/18	Long Term Capital Gain on T Rowe Price Instl Lrge Cp Gr on 483.53 Shares @ 1.77		855.85
12/18	Short Term Capital Gain on T Rowe Price Instl Lrge Cp Gr on 483.53 Shares @ 0.31		149.89
12/18	Dividend on T Rowe Price Instl Lrge Cp Gr on 483.53 Shares @ 0.02		9.67
12/18	Reinvestment into T Rowe Price Instl Lrge Cp Gr @ 26.75	0.361	-9.67
12/18	Reinvestment into T Rowe Price Instl Lrge Cp Gr @ 26.75	5.603	-149.89
12/18	Reinvestment into T Rowe Price Instl Lrge Cp Gr @ 26.75	31.994	-855.85
12/18	Long Term Capital Gain on Loomis Sayles INV Grade Bd on 746.147 Shares @ 0.115		86.33
12/18	Dividend on Loomis Sayles INV Grade Bd on 746.147 Shares @ 0.073		54.99





Statement Date Nov 29 - Dec 31, 2014

Page 4 of 5

DateDescriptionQuantity12/18Reinvestment into Loomis Sayles INV Grade Bd @ 11.774.67212/18Reinvestment into Loomis Sayles INV Grade Bd @ 11.777.33312/18Dividend on Oppenheimer Intl Growth on 396.954 Shares @ 0.40812/1812/18Reinvestment into Oppenheimer Intl Growth @ 34.664.67612/19Long Term Capital Gain on Capital World Bond on 285.386 Shares @ 0.18612/1912/19Short Term Capital Gain on Capital World Bond on 285.386 Shares @ 0.09412/1912/19Dividend on Capital World Bond on 285.386 Shares @ 0.09412/1912/19Dividend on Capital World Bond on 285.386 Shares @ 0.09412/1912/19Dividend on Capital World Bond on 285.386 Shares @ 0.09412/1912/19Dividend on Capital World Bond on 285.386 Shares @ 0.06712/19	2 -54.99 5 -86.33 162.07 6 -162.07 53.08 26.83 19.24 5 -19.24 6 -26.83 9 -53.08
12/18Reinvestment into Loomis Sayles INV Grade Bd @ 11.777.3312/18Dividend on Oppenheimer Intl Growth on 396.954 Shares @ 0.40812/1812/18Reinvestment into Oppenheimer Intl Growth @ 34.664.67612/19Long Term Capital Gain on Capital World Bond on 285.386 Shares @ 0.18612/1912/19Short Term Capital Gain on Capital World Bond on 285.386 Shares @ 0.09412/1912/19Dividend on Capital World Bond on 285.386 Shares @ 0.06712/19	5 -86.33 162.07 162.07 6 -162.07 53.08 26.83 19.24 19.24 5 -19.24 6 -26.83 9 -53.08
12/18Dividend on Oppenheimer Intl Growth on 396.954 Shares @ 0.40812/18Reinvestment into Oppenheimer Intl Growth @ 34.664.67612/19Long Term Capital Gain on Capital World Bond on 285.386 Shares @ 0.18612/1912/19Short Term Capital Gain on Capital World Bond on 285.386 Shares @ 0.09412/1912/19Dividend on Capital World Bond on 285.386 Shares @ 0.09412/19	162.07 6 -162.07 53.08 26.83 19.24 -19.24 6 -26.83 9 -53.08
12/18Reinvestment into Oppenheimer Intl Growth @ 34.664.67612/19Long Term Capital Gain on Capital World Bond on 285.386 Shares @ 0.1864.67612/19Short Term Capital Gain on Capital World Bond on 285.386 Shares @ 0.0944.67612/19Dividend on Capital World Bond on 285.386 Shares @ 0.0944.676	6 -162.07 53.08 26.83 19.24 -19.24 5 -19.24 6 -26.83 9 -53.08
12/19Long Term Capital Gain on Capital World Bond on 285.386 Shares @ 0.18612/19Short Term Capital Gain on Capital World Bond on 285.386 Shares @ 0.09412/19Dividend on Capital World Bond on 285.386 Shares @ 0.067	53.08 26.83 19.24 5 -19.24 6 -26.83 9 -53.08
12/19 Short Term Capital Gain on Capital World Bond on 285.386 Shares @ 0.094 12/19 Dividend on Capital World Bond on 285.386 Shares @ 0.067	26.83 19.24 5 -19.24 6 -26.83 9 -53.08
12/19 Dividend on Capital World Bond on 285.386 Shares @ 0.067	19.24 5 -19.24 6 -26.83 9 -53.08
	5 -19.24 6 -26.83 9 -53.08
	6 -26.83 9 -53.08
12/19 Reinvestment into Capital World Bond @ 19.73 0.975	9 -53.08
12/19Reinvestment into Capital World Bond @ 19.731.36	
12/19Reinvestment into Capital World Bond @ 19.732.69	770 770
12/19 Short Term Capital Gain on Deutsche Small Cap Value Instl on 209.674 Shares @ 1.299	272.37
12/19 Long Term Capital Gain on Deutsche Small Cap Value Instl on 209.674 Shares @ 1.211	254.00
12/19 Reinvestment into Deutsche Small Cap Value Instl @ 25.84 9.83	3 -254.00
12/19 Reinvestment into Deutsche Small Cap Value Instl @ 25.84 10.54	1 -272.37
12/19 Long Term Capital Gain on Harbor Capital Appreciation on 229.273 Shares @ 3.766	863.46
12/19 Dividend on Harbor Capital Appreciation on 229.273 Shares @ 0.048	11.04
12/19 Reinvestment into Harbor Capital Appreciation @ 58.74 0.188	8 -11.04
12/19 Reinvestment into Harbor Capital Appreciation @ 58.74 14.	7 -863.46
12/19 Long Term Capital Gain on MFS Massachusetts INV Trust on 342.76 Shares @ 1.281	439.37
12/19 Dividend on MFS Massachusetts INV Trust on 342.76 Shares @ 0.247	84.91
12/19 Short Term Capital Gain on MFS Massachusetts INV Trust on 342.76 Shares @ 0.221	75.86
12/19 Reinvestment into MFS Massachusetts INV Trust @ 28.14 2.696	6 -75.86
12/19 Reinvestment into MFS Massachusetts INV Trust @ 28.14 3.01	7 -84.91
12/19 Reinvestment into MFS Massachusetts INV Trust @ 28.14 15.614	4 -439.37
12/22 Dividend on Dodge & Cox Intl Stock on 428.774 Shares @ 0.97	415.91
12/22 Reinvestment into Dodge & Cox Intl Stock @ 42.41 9.80	7 -415.91
12/22 Dividend on Dodge & Cox Income on 1,314.788 Shares @ 0.087	114.39
12/22 Long Term Capital Gain on Dodge & Cox Income on 1,314.788 Shares @ 0.045	59.17
12/22 Short Term Capital Gain on Dodge & Cox Income on 1,314.788 Shares @ 0.01	13.15
12/22 Reinvestment into Dodge & Cox Income @ 13.76 0.956	6 -13.15
12/22 Reinvestment into Dodge & Cox Income @ 13.76 4.3	3 -59.17
12/22 Reinvestment into Dodge & Cox Income @ 13.76 8.313	3 -114.39
12/24 Long Term Capital Gain on Investment Co of America on 426.718 Shares @ 3.34	1,425.24
12/24 Dividend on Investment Co of America on 426.718 Shares @ 0.287	122.85
12/24 Reinvestment into Investment Co of America @ 37.34 3.29	9 -122.85
12/24 Reinvestment into Investment Co of America @ 37.34 38.169	9 -1,425.24
12/29 Long Term Capital Gain on New World on 152.066 Shares @ 2.633	400.39
12/29 Dividend on New World on 152.066 Shares @ 0.423	64.42



Statement Date Nov 29 - Dec 31, 2014



Page 5 of 5

Inve	Investment and Other Activity by Date (continued)					
Date	Description	Quantity	Amount			
12/29	Reinvestment into New World @ 53.51	1.204	-64.42			
12/29	Reinvestment into New World @ 53.51	7.483	-400.39			
12/30	Dividend on Pimco Total Return IV on 838.387 Shares @ 0.076		64.37			
12/30	Reinvestment into Pimco Total Return IV @ 10.55	6.101	-64.37			
12/31	Dividend on JP Morgan Core Bond on 1,542.066 Shares @ 0.029		44.72			
12/31	Reinvestment into JP Morgan Core Bond @ 11.74	3.809	-44.72			

Beginning Balance on Nov 29 \$					
Date	Transaction	Description	Deposits	Withdrawals	Balance
12/04	Withdrawal			-57.37	\$0.00
12/18	Deposit		14.80		\$14.80
Total			\$14.80	-\$57.37	
Ending	Balance on Dec 3	1			\$14.80





Outlook 2015: Five Steps to Start the New Year

We think the outlook for 2015 is good, but we also know that conditions can change quickly. One way to help stay on track in any market is to have a clear destination for your financial journey, with guideposts to point the way.

1. Stocks Can Fuel Portfolios

We think the economy and company earnings should continue to grow at modest rates, pushing stock prices higher over time. Of course, stock performance is not guaranteed, and markets can rise and fall at any time and for any reason. We believe stocks look attractive and recommend adding large-cap stocks if appropriate and reducing small-cap stocks as needed to position your investments for the long term to help you toward your goals.

2. Prepare for Rising Interest Rates

We think short-term interest rates will rise slowly after mid-2015 unless economic conditions change unexpectedly. Prepare for rising interest rates with a laddered bond portfolio, owning investment-grade bonds with short-, intermediate- and long-term maturities. Reduce high-yield bonds to no more than 5% of your portfolio.

3. Look Abroad for Opportunities

Many countries added or reinvigorated growth policies in 2014. Interest rates fell, stocks worldwide rose, and the U.S. dollar strengthened compared to most foreign currencies. We think these policies are likely to continue until economic growth picks up. Consider adding broad-based international equity investments to your portfolio, if appropriate. We believe they should benefit as economic growth starts to rebound. Low interest rates combined with a rising U.S. dollar could make foreign fixed-income investments less attractive, so we suggest reducing those investments, if needed.

4. Pace Yourself

Investing more in stocks increases risk, but too little may mean you don't have enough time to reach your destination. Rebalance your portfolio if needed to an appropriate mix of stocks and bonds for your situation and risk tolerance.

5. Don't Take Detours

Don't be misled by promises of high returns without risk or "must-have" investments claiming to protect against predicted "disasters." The time-tested strategy of owning quality investments and staying invested in them is more likely to help you reach your financial goals.

No matter where you're at in your financial journey, your financial advisor can help make sure you're on the right track. There may be some rough patches along the way, but we believe there are opportunities today to help to work toward your long-term goals.

Before investing, make sure you understand the risks involved. Share values will fluctuate with changing market conditions, and you may lose principal. Bond values will generally decline in a rising interest rate environment. Dividends can be increased, decreased or eliminated at any point without notice. Special risks, including those related to currency fluctuations and foreign political and economic events, are inherent to international investing.



About Edward Jones

Edward D. Jones & Co., L.P. is dually registered with the Securities and Exchange Commission (SEC) as a brokerdealer and an investment adviser. Edward Jones is also a member of FINRA.

Statement of Financial Condition — Edward Jones' statement of financial condition is available for your personal review:

- at your local branch office
- at www.edwardjones.com/en_US/company/index.html
- by mail upon written request

About Your Account

Account Information — Your Account Agreement contains the complete conditions that govern your account. Please contact your financial advisor if you have any changes to your financial situation, contact information or investment objectives.

Account Safety — Please review your statement carefully. If you believe there are errors on your account, you must notify us promptly of your concerns. You may either contact our Client Relations department or your financial advisor. You should re-confirm any oral communication by sending us a letter within 30 days to protect your rights, including your rights under the Securities Investor Protection Act (SIPA).

Errors or Questions about your Electronic Transfers — Contact Client Relations at (800) 441-2357.

Complaints about Your Account — If you have a complaint please call (800) 441-2357 or send a letter to Edward Jones, Attn: Complaints Dept., 1245 JJ Kelley Memorial Dr., St. Louis, MO 63131.

Withholding on Distributions or Withdrawals — Federal law requires Edward Jones to withhold income tax on distribution(s) from your retirement accounts and other plans unless you elect not to have withholding apply. You may elect a percentage to be withheld from your distribution or not to have the withholding apply by signing and dating the appropriate form and returning it to the address specified on the form. Your election will remain in effect until you change or revoke it by returning another signed and dated form. If you do not return the form by the date your distributions are scheduled to begin, Federal income tax will be withheld. If you do not have enough income tax withheld from your distributions, you may need to pay estimated tax. You may incur penalties if the amounts withheld and your estimated tax payments are not equal to the tax you owe. State withholding, if applicable, is subject to the state's withholding requirements.

Fees and Charges – The "Fees and charges" amount shown in your Value Summary includes all activity fees, except dividend reinvestment fees.

Fair Market Value for Individual Retirement Accounts Your fair market value as of December 31st will be reported to the IRS as required by law.

Rights to Your Money Market Fund, Bank Deposit and Free Credit Balances — Your free credit balances are payable on demand. You may require us to liquidate your bank deposit or money market fund balance. We will then disburse the proceeds to you or place them in your securities account. Your instructions must be made during normal business hours and are subject to terms and conditions of the Account Agreement.

Important disclosures and other information relating to your account(s) are available at www.edwardjones.com/disclosures.



Go Green! Did you know you can receive your statements and other documents online instead of on paper? Visit www.edwardjones.com/edelivery for more information.

Client Relations			Online Access		Other Contacts	
2	Toll Free Phone 800-441-2357	Monday-Friday 7am-7pm CST	·A	Online Account Access www.edwardjones.com/access	~	Edward Jones Personal MasterCard® 866-874-6711
X	201 Progress Parkway Maryland Heights, MO 63043		*	Edward Jones Online Support 800-441-5203	2	Edward Jones Business MasterCard® 866-874-6712
					2	Edward Jones Visa Debit Card 888-289-6635

S1EDJ001 rev 10-14 RJ